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 𝑓′ 𝑥 = 2𝑥 log 𝑥 + 𝑥2 ∙
 

𝑥
= 𝑥 2 log 𝑥 +    

𝑥 >
 

√ 
より、2 log 𝑥 +  > 0であるから、𝑙𝑡の傾きは−

 

   + 2 log   
である。 

𝑙𝑡の方程式は 𝑦 = −
 

   + 2 log   
 𝑥 −   +  2 log  −

 

 + 2 log  
= 𝑦 = −

 

  2 log  +   
𝑥 +  2 log   

𝑦 = 0とすると − 𝑥 +  3 log     + 2 log   = 0 ∴ 𝑥 =  3{log  + 2 log   2} 

 

    =  3{log  + 2 log   2}であるから 

  ′   = 3 2{log  + 2 log   2} +  3  + 4 log   
 

 
=  2{ + 7 log  + 6 log   2} =  2  + log     + 6 log    
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< 𝑥 ≦  のとき、−
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< log 𝑥 ≦  であるから 

    の増減は右の通りで、𝑥 =
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 のとき極小。 
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求める範囲は ∴ −
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≦     ≦ 3 3  ⋯⋯ 答  

 


